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. a) logy o + 6 > 5log, . 6) logs x — 6logy x — 16 > 0. B) 1%—96121
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. a) log3 (25 — #%) — 3log, (25 — 22) +2 > 0. 6) log3 (4 + 3z — 2?) + Tlogy 5 (4 + 3z — 2?) > —10.

. a) (logy(z +4,2) +2) (logy(z +4,2) —3) > 0. 6) 2logg (42 + 1) > logy(3z* + 4z + 1).
. (10g§$ — 2log, x)g < 11logi x — 22log, © — 24..
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. 2log, +log, (z +1,3)% > 2
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6) logg > loga2
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1
. a)log, ; (x—g > <0. 6) logy, 1 (322 — 27) < logy,,; 10.

1 2
. a) log,» (_E + ﬁ) <0. 6) log,» (z +1)* < 1. B) loge (322 — 2z +1) > 0.

. a) logge_, 1 (222 — 5z +3) > 0. 6) logg2, s, (222 — 3z +1) > 0.

. a)logy_,(z+42)-log,.3(3—x) <0. 6)logy,(x+4)- log,(2—z)<0.

. a) loggy, 27 <

64
6) log, 512 < log, —.
log, x x

. a) log = 7 <log=T7. 6) log, 3+ 2log,, 3 — 6log, 3 < 0.

. a) x-log, 5(7—2x) > 0. 6) (4o —7) -log,2_4p.5(3x —5) > 0.



